
Five Crochet Golden Cape Motifs 

designed by Andrea Gaskell 
Abbreviations: 

Ch – chain; ss- slip stitch; dc – double crochet; dbl.tr – double treble 

 

Special stitch:  

3 ch picot: make 3 ch then ss into 1st ch.  

 

Art Nouveau Lily: Version 1 (V1) 

1. Make a magic ring and then 12 dc into 

ring. 

2. 9ch ss to 1st of the 9ch*, turn. 

3. (3dc into 9ch ring, 1 x 3ch picot) x 3, 3 

dc into ring. 

4. 18ch and then ss to the base of the 9ch 

ring*, turn and then make 24dc into this 

18ch loop, turn. 

5. Make 8 5 ch loops around the 24dc as 

follows: (5ch, miss 2dc, 1dc in next dc) x 

7, 5ch, ss to the base of the 9ch ring *, 

turn. 

6. 9ch, miss 1 5ch loop, 1 dc in next loop, 

turn. 

7. 6dc, 1 x 3ch picot, 6dc into the 9ch loop just made. Ss to 1st dc **, turn. 

8. 18ch, 1dc in next 5ch loop, turn. 

9. 6dc, (1 x 3ch picot) x 3, 6dc into the 18ch loop just made, ss to 1st dc **, turn. 

10. Repeat from 6-9 for the other side, but fasten off after ss. Weave ends in. 

 

Art Nouveau Lily: Version 2 (V2) 

Work rounds 1-5 of version 1.  

6. 9ch, miss 1 5ch loop, 1 dc in next loop. (5ch, 1dc in next loop) x 5.  

9c.   ss to * (V1), turn. 

7. 6dc, 1 x 3ch picot, 6dc in the 9ch loop, 6dc into each 5ch loop.  

6dc, 1 x  3ch picot, 6dc in 9ch loop. Ss to 1st dc, Fasten off.  Weave 

ends in. 

 

 

 NB. not all ss are shown so as not to overcomplicate the 
diagram. 



 

Flower Motif created from 4 art nouveau lilies V2 

Work rounds 1-6 of V1 and 7 of V2. Ss across 2 dc in ring then 

repeat 7-9 of V2 x 3 to make a 4 petalled flower motif.  

 

 

 

Art Nouveau Leaf: 

To make a leaf shape, work V1 of the lily from 1-5, but make 24 ch and 

30dc at point 4 and 10 5ch loops at point 5. 

Work 6 of V2.  

At point 6, work: 9ch, miss 1 5ch loop, 1 dc in next loop. (5ch, 1dc in next 

loop) x 7.  9ch       ss to * (V1).  Fasten off.  Weave ends in. 

 

Simple Flower: 

Into a magic ring make 18dc, ss to close.  Work in the back loops 

only.  

 5ch, 1 double treble into back loop 

of 1st dc.  

1dbl. tr into the back loop of the 

next dc.  

1 dbl.tr into the back loop of the 

next dc, then 5ch and ss to same loop. SS into the back 

loop of the next dc.  

(5ch, 1dbl.tr into back loop of dc.  

1dbl. tr into the back loop of the next dc.  

1 dbl.tr into the back loop of the next dc, then 5ch and ss to same loop. SS into the back 

loop of the next dc.) x 5, but the last ss will be into the back of the first dc.  Fasten off and 

weave ends in.  

6 petals.  

 

 

 

 


